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Complete numbers 3 and 4 in your composition book.
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5) 5a=15

Complete numbers 5 - 8 on your notes page.
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%;Complete numbers 5 and 6 in your composition book.

5) 6b:9=4 e e

6b=-9=4 = g
X9 X9 | B ?g =36 « 2
B 85 | o =i

b=6




9)

2h-::-15 = 20‘

2h=15 =20
x15 x15

100 ”
+ 200

2h = 300

= 10) 60 ZOm 4
ZOm 4
x4 x4
240 = ,,20
20 e 2

2 2
h=150

12 =




Complete number 7 in your compos;tzon book

7) The areaof the rectangular shaped courtyard is
2730 sq.ft. Whatp IS the length Of th’e sxdewalk?

65 L

area = length X width 42
2730 = 65Y ‘ 65| 2730
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The length of the sidewalk is 42 feet



Complete number 11 on your notes page.

11) You and four friends buy tickets to a baseball
game. The total cost is $70. Write and solve
an equation to find the cost of each ticket.

, 5t e

t=14

Each ticket costs $14.




